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1. Apply Laplace transform to solve the equation,

Vi) +20')~6y=t; »(0)=0,y'(0)=0 (10%)
2. Find the inverse Laplace transform for the following function. (10%)
AY

(s+1)*(s* +25+5)
3. Apply Laplace transform to find the solution for the following equations.  (10%)
!
x(t) +3 L [x(r) - y(7)]d7 =1

¥ +2 [[20(2) - x()}dr = 0

4. Find the Fourier transform for the following function. (10%)
3e”
t? =2t +5
5. Find the inverse Fourier transform for the following function. (10%)
1
(1+o*)(4 +@°)
6. Find the general solution for the followin g differential equations.
@) y2+y—x%= (10%)
-
(11) %r-‘;+2%-8y=16+(12x—4)eh (15%)

7. Determine the relationship of a, b, ¢ such that the following system of linear

equations has (i) an infinite number of solutions, (5%)
(i)  exactly one solution, (5%)
(111)  no solution. (5%)
2x—-y+ z=a
X+y+2z=5H
3y+3z=c
1 1] [=1] 0]
2 2 -2 0 ;
8. Let w= 5 2 UEl | B 5 and v =l Write the vector w as a
=42 [ 4 | | 4 L

linear combination of vectors Vi, v, and v,. (10%)




